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SHNCFEERBAL TERREBMTEHRNAEES

£ E K - BAKTE B 2 il ® &8 B =
EHES ] 2,441,856 + 2,681,788 + 768,546 + 7,810 5,900, 000
EREAGE 2,441,856
ERE 2,441,856  x 110 % — 4,253 2,681,788
BT FRR (2,441,856 + 2,681,788 ) x 0.15 768, 546
HARE 7,810
SEHEBEE 5, 900, 000
ABETH 962,242 + 817,758 1,780, 000
EENEE 962, 242
e 962,242 x  85.00 % - 147 817,758
RE LB 1,780, 000
EHE T 5,900,000 + 1,780,000 7,680, 000
HEREELE 7,680,000 x  10.00 % 768, 000
RHBEREN 7,680,000 + 768,000 8, 448, 000




HEARE RO LRSS AR RET T SR ELH

% R B - BRI BfL % 8 B ff ® # wm Oz

RETET 2, 449, 666
RETET 2, 449, 666
RETET 2, 449, 666
EEAGE 2,441, 856
EHARFRE 2,441, 856
1 EARRE 1.00 2,441, 856 2,441, 856

=
HARE 7,810
HARE 7,810
2 HRRE 1.00 7,810 7,810

=




EERRE HHCEERBEL ZEEHFRTT RN SRS
% 3 g - BAKTE BfI 2 il £

FEES 962, 242
BEEEE 962, 242
EEI=E 962, 242
EEAGE 921, 242
EESHE 133, 800
3 ABREESAE 4.00 33, 450 133, 800

)=
KER=E 39,109
4 IMAKEREEHA (LANILFIZKD) 0.70 55, 870 39,109

km

Hih R 748, 333
5 HHAIE (EZEETE) (S=1/500) 1.00 43, 340 43, 340

=
6 HithiBlE (S=1/500) 1.00 563, 493 563, 493

=
7 HEEA=E 0.10 1,415,000 141,500

km

EERE 41,000
ETHREMIERE 41,000
8 BEFHRRIERE 1.00 41,000 41,000




RER-EI/ Sv5r—o SHGEEREKSL TR BERRTERIEES

B2 1
& EARE [EED)
% R A - BT B B = B O ® &8 wm = B =
HAREE
Eao 1.000 2,441, 856. 00 2,441, 856
& & EEER « 1. 00= 2,441, 856. 00 2,441, 856
BS 2
£ HARE IEED
% R A - BT B B = B O ® &8 wm = B =
HARE
Eao 1.000 7,810.00 7,810

& it EERESN - 1,00 7,810.00 7,810
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SHNCFEERBAL TERREBMTEHRNAEES

&S :3
B ARELESAE LED,
# # 1A - BdkhiE B ! B ff & # ® %
fE£EE
= 1.000 3,096. 00 3,096
BE
= 1.000 9,311.00 9,311
il
= 1.000 14,170. 00 14,170
HE£2
= 1.000 6, 881. 00 6, 881
& & RS - 1. 005 33, 450.00 33,458
B2 4
B 3BKERBEY (LALECED) Tkmy
# # 1A - BdkhiE B ! B ff & # ® %
fE£EE
km 1.000 5,728.00 5,728
BE
km 1.000 9, 804. 00 9, 804
il
km 1.000 31, 660. 00 31, 660
HE£2
km 1.000 8, 679. 00 8,679
& &t fE$8E5 - 1.00k m 55, 870. 00 55, 871
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SHNCFEERBAL TERREBMTEHRNAEES

&S5
2% HHAE (EEHE)  (S=1/500) ESED)
% # 1R - RS B g B & & " =

BIEE AR

A 0.200 54, 600. 00 10,920
BB

A 0.300 47,100. 00 14,130
BERAR

A 0.300 36, 900. 00 11,070
EEIC L DEIE

0. 200 36, 120. 00 7,224
R TEEREN 1. 0055 43, 340. 00 43,344
BS:6
&% : BAE (5=1/500) 0.003km2%y (1)
% # 1R - R SE B g B & & " =

EREHE

= 1,000 13,591. 00 13,591
HERRIE s

= 1,000 376, 039. 00 376, 039
HERRIE 2ES

= 1,000 46, 861.00 46, 861
HiERE

= 1,000 81, 850. 00 81, 850
HEBTET—5 77 1 LR

= 1,000 45,152. 00 45,152
& & eS8 S - 1. 00K 563, 493. 00 563, 493
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SHNCFEERBAL TERREBMTEHRNAEES

&5:7
&% EEAE Tkm%y
£ i K - BARTE By 2 Bl & & i &
Al
km 1.000 955, 500. 00 955, 500
HEMTE R R
km 1.000 306, 000. 00 306, 000
RRER
km 1.000 153, 600. 00 153, 600
& F fEE£REN :1.00km 1,415, 000. 00 1,415,100
&5 :8
2% EFRERIERE XLy
£ i K - BARTE By 2 Bl & & i &
EFRRERERE
= 1.000 41,000. 00 41,000
& &t 8 - 1,00 41,000. 00 41,000




